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Note: This question paper contains two parts A and B, 
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Part A is compursory which carries 25 marks. Answer ail questions in part A.Part B consists of 5 units. Answei any one fuil question from each unit. Eachquestion carries 10 marks and may haye a,t, , ur ruU qu'.Jorr.
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l'a) why there is no chimney in the case of a rocomotive boirer?b) what are the advantag"r oru.tinciar draughi 
""".'r"*."r draught? frlc) W"hat are the 

-lim-itatio.ns of gas turfuine.p? :"d)*..''D*.Wthe tayoiit'bfd_ii..f pJ*"irilant.i --jr i : --^.t i"""'.., --Elr" .,
e; ," Differentiate b.d*ffi;;il;'l;fl&s used in r,yJii erectric 6;ur*,r. #ii ,,
g) what are the fertile mateiars used in thenucrear power prants? t2lh) what are the major sources for the radiation hazardsin nuclear power plants? r3li) what is the impact of power prants on environment? 

rruvrsar puwer planr 
;.1i) L-ist out the methods oipottuiion control. 't 
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(50 Marks)
2'a) Enumerate and exprain the steps invorved in coar handring.b) E:.*."in the *l'.:ril}-ut orash handring ura Juri"Jrec--tion systems. [5+5]
3.a) 'Eipthin the r,-3*1,*if ,r..uo;;$juffi ,:Tik :1 ,., , 
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b) 
" whai are the diffei;itvp., oriooiing'to*".ri-e*firi;.*r,n a neal sketch. .[5+51 .

4'a) Describe the various methods used for starting diesel engine. Describe the correctsequence of steps for starting and stopping procedire 
rvr vwowtr.,

b) what are the essential comionentr of u. iimple of"n ,y.t" gas turbine plant? How inter
-cooli.ng and rg...g.g1a1ion heip.h imp*o-ving ttrermar,efficiency ofthe,pranr? t5+5r...,"i......r ,r-i".rj ,,ti,,:On .;.i i --.:ri' j --.;,i 

l5'a) 
'" Disiuss the wgt sump"lubricatlgn sysiem p.nuiningfo adiesel engine.-i, .j, -".,,b) what methods are il; ;irp;"""-rn".fft"i.n.y o-f jrl tu.uir" po*". prant? [5+5]
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6'a) How to make use of the tides for power generation based on their capacities? Explain theprinciple of operation.

-b). 

"- 
" 
t'*t',qt*ry and discuss llf. .tg.r lalouis 

3f 
rrydro proje,eis-; lftsfi

7'a)' what is a spillw;y?'why spillways ur. ,"qiri."d?'what areithe different rypes ofspillways?
b) Explain with a neat sketch a pumped storage hydro plant, state its advantages. t5+5]

8.a) Explain the construction and working of nuclear power plant with a layout.b) 
,.lesolibe,with thB;hely,of a neat-skeie.h, the conitruction working.of a pressurized .waterjrgacfpr.Whatarbthe;idvantages,hriOdisadvantages?_-r.,,' 

!.......,li i i 
" 

-/i i roR -i -i i .r, i--ii t1s]'...
9'a) How the Graphite can be used in the nuclear power plant reactors? Explain the specialrequirement of Graphite in the reactions.
b) List out the advantages and disadvantages of nuclear plants over conventional thermalplants. 

t5+51

l0'a) 
"The- 

peak load-ohls...g.gl..:p!.rriir=s0 MW.-Ttie.loaa. rravtrig-.rnlxi*u, oemunds_of
,r 2s Mw, roMlV, I Mw ana ztuW ar" 

"onn....tta 
il.ido;*.i:t,rii;i,'il. capacity ofthe power station is 40MW and annual load faitor is 50 %, finJ, ;);;;;;. r-"iJ"Trr,.power station. ii)-Energy supplied per yeff iii) Demand factor ivy oiversity factor.b) Explain the significance of: i) Load factor ii; Diversity fa.to.' 1ii; gunt capacityfactor iv) Plant use factor. 

OR 
' ,i .f t5+5]

t t 
")-,:'"P.:-lb]lowing- data 

'is girm rorai-iiE#iower prhnti Maximum,Demand 25.000 liw:
r T3o.' ractor 

1PY! .Gpal consumgtion 0.86 kelkurhi., Boiler efflcieiicy s5%; Turb-in'e' efficiency 90%; price of coal Rs. 
'55 

per ron;-=ori..rine: i) Thermal .ffi;;;.y;i;ir';station ii) Coal bill of the station for one year.b) Draw the load curve for the power requirement in India and discuss the methods to fulfill
the part load conditions. 

[5+5]
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